Find exact solutions.
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8= 60,120, 290° 300"

Using the unit circle find two angles that have the same Cosine value.

What is the relationship between these two angles?

® They are reflections over the x-axis

® They are opposites of each other
Cos6 = Cos(-0)

Using the unit circle find two angles that have the same Sine value.

What is the relationship between these two angles? |

)

® They are reflections over the y-axis

e They are Supplementary:
SinB = Sin(180° - 6)
Sin(1T - 0)

Using the unit circle find two angles that have the same Tangent value.

What is the relationship between these two angles?

0.1

® The angles are half a circle e )

away from each other ¢ = i 72(7@‘71)

e Tan® = Tan(6 + 180°) = Tan(6 + m)



Find the value of x to the nearest tenth of a degree.
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Find all values of 6 for 0 < 6 < 360° that makes this
equation true. Round to the nearest hundredth.
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Find all values of 6 for 0 < 6 < 360° that makes this
equation true. Round to the nearest hundredth.
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Find all values of 6 for 0 <6 < 360° that makes this
equation true. Round to the nearest hundredth.
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Find all values of 6 for 0 < 6 < 21 that makes this
equation true. Round to the nearest hundredth.
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Find all values of 6 for 0 < 6 < 21 that makes this
equation true. Round to the nearest hundredth.
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Find all values of 6 for 0 < 6 < 21 that makes this
equation true. Round to the nearest hundredth.
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Find all values of 6 for 0 < 6 < 21 that makes this
equation true. Round to the nearest hundredth.
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You can now finish Hwk #27 Sec 14-2

Page 787 Due tomorrow

Problems:
17-19, 22, 25 Use Unit Circle for exact answers.
20, 21, 23 Round to nearest hundredth.



